Text: p. 462
1) 1

3) 4

12) 2

17) Atmosphere is holding 50% of the moisture it can hold at that given temperature

Text: p. 489

1) 2
13) 1

2) 1
14) less dense

3) 1
15) 43.5°

4) 2
16) 100% (clouds are present)

5) 3
17) 334 j/g

6) 2
18) Allow water vapor to condense on it (condensation nuclei)

7) 3
19) Volcanic Eruptions

8) 4
20) Needs something to condense on

9) 2

10) 4

11) 1

12) 3

Text: p. 515
1) 2
13) 3

2) 3
14) 3

3) 2
15) 4

4) 4
16) in and counter clockwise

5) 2
17) 30 mb (1000-970) / 10 hours = 3 mb/hr

6) 3
18) Low pressure system moved in followed by higher pressure moving in

7) 1
19) omit

8) 3
20) Water vapor is less dense than dry air

9) 4

10) 1

11) 4

12) 2

